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Note: 1. Question Paper consists of two parts (Part-A and Part-B)
2. Answer ALL the question in Part-A
3. Answer any FOUR Questions from Part-B

PART -A (14 Marks)
a)  Define and explain Eddy’s theorem. [2M]
b)  Whatis Po WWW. kvrssgroup.com [2M]
c) Whatarea It X thod? [2M]
d) Explain rot [3M]
e) Distributio g [3M]
f)  Define “Stiffie [2M]
Q
=)
0 (56 Marks)
P
Calculate 51‘” imum bending [14M]
moment on & iadn figure. Draw
bending m § aximum bending
moment. %
4 8m____ | RN -
A A B A
« 30m >
a)  Explain how lateral loads are developed on a structural frame? [4M]
b)  Explain analysis of a frame subjected to lateral load by adopting Cantilever [10M]

method.

a)  Explain situations where the supports in a cable are at different levels. State  [4M]
position of maximum and minimum tension in a cable with calculations.

b) A cable is used to support six equal and equidistant loads over span of 14 m. [10M]
The central dip of cable is 1.2 m and loads are 25 KN each. Find the length of
the cable required and its sectional area if the safe tensile stress is 150 N/mm?.
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Evaluate the bending moment and shear force diagrams of beam as shown [14M]
below by Moment distribution method.
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Explain p e using Kani’s  [7M]
method.

Explain sig ani’s method of  [7M]
analysis. ?
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A two spe ow. Solve the [14M]
problem by st Q
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Note: 1. Question Paper consists of two parts (Part-A and Part-B)
2. Answer ALL the question in Part-A
3. Answer any FOUR Questions from Part-B

PART -A (14 Marks)

a)  What do you understand by term horizontal thrus [2M]

b)  What is difference between Aren Action and Seam Action’ [2M]

c) What is the ion & [2M]

d) Explain st rent distribution  [3M]
method. o}

e) Explain adyas : method. [3M]

f)  Explain de g [2M]
0

Q (56 Marks)

a) Draw the aor action of the [7M]

external lo
b) A Two hin own in figure. [TM]

WWW.Up

ww.upiq pi)an k.com

{300

a)  Explain how lateral loads are developed on a structural frame. [4M]

b) Explain analysis of a frame subjected to lateral load by Adopting portal [10M]
method.

a)  Explain different types of cable anchoring methods with neat diagrams. [4M]

b) A cable supported on piers 60 m apart at the same level has a central dip of [10M]
6 m. Calculate the maximum tension in the cable when it is carrying a load of
30 kN/m. Also determine the vertical pressure on the pier, if the backstay is
inclined at an angle of 60° to the vertical when the cable passes over a pulley
and the cable passes over saddles.
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Evaluate the bending moment and shear force diagrams of beam in below [14M]
figure by Moment distribution method.
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Explain PFCC \ i negus beam with  [14M]
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Note: 1. Question Paper consists of two parts (Part-A and Part-B)
2. Answer ALL the question in Part-A
3. Answer any FOUR Questions from Part-B

PART -A (14 Marks)
1. a) i ‘ [2M]
b) ridge. [2M]
c) [2M]
d) £ [3M]
e) : 8 [3M]
f) X [2M]
£
0 (56 Marks)
Q
2. @) 3 [6M]
b) g imum bending  [8M]
§ figure.
I 24m >
3. a) Explain procedure for Cantilever method of analysis. [7M]
b) Analyze the Portal frame shown in figure by Portal Method. [7M]
25KN —» I
6m |« 4m » 6m
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a) With neat sketch list out various features of a suspension bridge. [TM]
b) A cable is used to support six equal and equidistant loads over span of 14 m.  [7TM]

The central dip of cable is 2 m and loads are 25 KN each. Find the length of
the cable required and its sectional area if the safe tensile stress is 140 N/mm?.

A continuous beam ABCD is fixed at A and S|mply supported at B and C, the [14M]
beam CD isgoverh h Samgand over hanging
CD=2m at of span AB

and CD is bad of 25 KN/m
over span 'tance E m from B and
point load g marients at A, B and
C adopting™ pending moment

diagram. -
1]
2
Analyze co % [14M]
o
=
i ;
w 7
x Z
Derive sti WIAWLEIDIG P 5SS, vedi ame elements [14M]

highlighting their degrees of freedom.
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b)
c)

d)
e)

b)

b)

Note: 1. Question Paper consists of two parts (Part-A and Part-B)
2. Answer ALL the question in Part-A
3. Answer any FOUR Questions from Part-B

PAR (14 Marks)

Explain ad [2M]
Explain ho : C [2M]
Explain hovzjoint rofations ) eir inflt - different types of  [2M]
support. i, -
Explain procadu 0L iifie * in @nalysis. [3M]
What are Retation'e ) Y [3M]
Explain St 3 [2M]

Q

=3 (56 Marks)
Calculate ‘ g aximum bending  [14M]
moment o n figure.

What are lateral loads? What are inconveniences associated with these lateral [7M]
loads? Why we adopt approximate methods to analyze a structure with lateral

loads?

List out and explain concepts adopted in analyzing a structure subjected to [7TM]
lateral loads by an approximate method.

List various parts in a suspension bridge with neat diagram and explain the [4M]
loading arrangement.

A suspension bridge of 50 m span and 3.5 m wide platform is subjected to a load [10M]
of 50 KN/m?. The bridge is supported by a pair of cables having central dip of

4.5 m. Find the necessary cross sectional area of the cable, if the maximum
nermissible stress in the cable not to exceed 150 N/mm?2
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A continuous beam is built in at A and it is carried over rollers at B and C with  [14M]
spans of AB and BC being 12 m. The beam carries a uniformly distributed load

of 25 kN/m over AB and a point load of 60 kN over BC 2.5 m from the support

B, which sinks by 20 mm. Values of E and I are 2 x 10° N/mm? and 2x10° mm®,
Calculate the support moments and draw bending moment diagram giving

critical values. Use Moment Distribution method.

A portal frame ABCD fixed at A and D is loaded as shown in figure. Draw  [14M]
bending mom i i i
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Explain Pr ; ;» with settlement  [14M]
of supports 3 ;
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